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Question 2e June 2011

Evaluate the benefits and drawbacks to AM Ltd of having a verbal contract, rather
than a written contract, with Braithwaites’ Garage. [14 marks]

Response 1 [Awarded 10 marks]
The opening paragraph of this response discusses issues surrounding lack of proof in
instances of breach, there is no context at this stage and the answer remains in Level 1.
The following paragraphs explain more about this issue, this time in context with references
to paying late, cars, servicing and cutting corners, thus achieving Level 2. Towards the end
of the response the point about Braithwaite’s Garage being more able to take up a contract
elsewhere is developed analytically. The candidate explains the impact on AM Ltd if they
cannot find another party who would do the servicing work on such lucrative terms and
enters Level 3.

The final paragraph summarises the argument concluding that verbal contracts allow leeway
to both parties. The candidate evaluates this point, in context, and suggests that this may
affect the quality of work done on the cars. For this reason AM Ltd should use a written
contract to make the agreement more explicit - a weak, but correct, argument and a low
Level 4 mark of 10 is awarded.
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Response 2 [Awarded 6 marks]

The candidate begins by explaining that proof of breach could be an issue, entering Level 1.
The response then swiftly moves into context with references to MOTs, brakes and servicing
which could go wrong and cause a crash, entering Level 2. The candidate then analyses
this lack of breach, concluding that AM Ltd will not be able to prove that Braithwaites’
Garage is responsible for the shortcomings of the vehicle and hence AM Ltd will be ‘in
trouble’ for the quality of the work, thus entering Level 3.

At the end of the response the candidate does attempt to draw an overall conclusion but
there is no explanation of why the drawbacks are far more serious than the benefits, nor is
there any context. Because of both of these issues the opinion has no valid justification and

cannot be awarded Level 4. A Level 3 mark of 6 for making one analytical comment is
awarded.
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“Question 1g June 2011

Evaluate the likely effects of the Data Protection Act on AM Ltd’s operations.
[14 marks]

Response 1 [Awarded 3 marks]
This response begins by giving several effect of the Data Protection Act including, date must
be accurate, up-to-date, adequate and not excessive. These are Level 1 responses. The
candidate then moves up a level stating a contextual effect on AM Ltd — they cannot store
medical records of employees as these are not needed in a garage. The rest of the
response reverts to non-contextual effects. The maximum level which this response
achieves is Level 2 and a mark of 3, for giving one effect in context, is awarded.
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Response 2 [Awarded 2 marks]

The candidate begins well and gives several possible effects of the Data Protection Act. The
reference to use for marketing purposes would apply generically to all businesses and so
cannot be awarded as context. The response is therefore deemed not to be in context and
the maximum Level 1 mark, of 2, is awarded.
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